04 11 01

G )

2,132 | 2,132 | o |

R2

R4

R6

(L=3,532m)

3,532m
=R2d

R6d

Oom

1359m

3532m

0000529916




R02 |R03 [R04 [ROS5 [RO6

A02-001 L=627m " == 98
A1-1

A02-002 L=1,112m [ I B 114
A1-2

A02-003 L=813m [ I B 321
A1-3

A02-004 ( ) L=490m L I B B BN 433
Al-4

A02-005 ( ) L=490m LI B 205
A1-5

A02-006 ( ) L=490m LI B 487
A1-6

0000529916




R02 |R03 [R04 [ROS5 [RO6

A02-007

)

L=490m

474

A1-7

0000529916




R02 RO3 RO4
@ 42 61 30

) 0 0 0

(c=a+h) 42 61 30
(@ 0 25 33

O] 17 53 55

® 25 33 8

3 12 8

(h = c+d-e-f) 0 0 0
(i = (g+h)/(c+d)) 7.14 13.95 12.69

10

0000529916



